Quadratics: The Graphs

X Height of a Diver
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What was the maximum height of the diver?

At what time did the diver reach that height?
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Sketch the graph of the function;
Yy = :1& z— 2

First of all, what shape w1?1 the equation be on a graph? How do we

know?fapa

desree= oL

A:y-int — y-lntercepts happen whenx=0

ysint = -2 y=o-o-

B: Will there be x-intercepts? When are there ‘;
5 )( —X - X—ina N\_f) 4 Q-. Q
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C: All parabolas are symmetrical. Therefore we can find the
between any two points to find the axis of symmetry:
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D: The vertex will be the only point that is 6n the axis Of symmetry.

We can use that x value and solve for y.
vertex (X ) / } ( ,_§>

/-—— l:) ~|.5

Jl 2

(5~ 1ax)




) Ces)
{@$&§/2‘%;L= i(x+@u+[§>

X such ‘H‘\a‘l‘

ﬁ le.S‘I' \"’l'l'l']lr\ % Q <><|/)(2>
kepg}i%ﬂge:n\/m bC/-S . g }
yly> 2.y BY™ R~

% suth that v 18 :yeanlff'u\av\ of-ezw/ﬁ;
-2 Aad % ex. sts L—vl“\'t\}\ “Hu: rea |

humbe s .

Assigned work: Bég
Pg

#1,3, 4, 11-13










	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6

